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OXO FIXED STILE OPTIONS (ARCHETYPE NARROW LOCKSTILE)

SERIES 1050, 1070, 3070 , 3050 MULTI-SLIDE

DRAWING: DATE:3/26/15

OPTIONS_FIXED ARCHE_NARR LOCK_OXO
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NARROW STILE 3008
1. CALCULATE EQUAL GLASS SIZES.
2. DIVIDE 3.228 BY 3 FOR ADD AMOUNT OF 1.076.
3. ADD 1.076 TO BOTH O PANELS GLASS.
4. MULTIPLY 1.076 BY 2 FOR ADD AMOUNT OF 2.152.
5. SUBTRACT 2.152 FROM X PANEL GLASS.

ARCHETYPE NARROW STILE 3005
1. CALCULATE EQUAL GLASS SIZES.
2. DIVIDE 1.344 BY 3 FOR ADD AMOUNT OF 0448.
3. ADD 0.448 TO BOTH O PANELS GLASS.
4. MULTIPLY 0.448 BY 2 FOR ADD AMOUNT OF 0.896.
5. SUBTRACT 0.896 FROM X PANEL GLASS.

ARCHETYPE STILE 3767
1. CALCULATE EQUAL GLASS SIZES.
2. DIVIDE 1.394 BY 3 FOR ADD AMOUNT OF 0.464.
3. ADD 0.464 TO BOTH O PANELS GLASS.
4. MULTIPLY 0464. BY 2 FOR ADD AMOUNT OF 0.928.
5. SUBTRACT 0.928 FROM X PANEL GLASS.




